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Detach a sheetof paper from the CW section of your notebaok andlabel it CW 22.
Boseve olises o B2long

2 Evaluate 2+ T —pfor m=-15, =2 andp=-4

A camera manufacturer spends $2250 each day for overhead expensesplus S6 per
‘camera for labor and materials. The cameras el for $16 each. How many cameras
‘must the company sellin one day to equalts daily costs?

4 Solve: 6p+ 7= 32p ~3) 410 + 4p)

5. Which equationhas no sofution? A. § —(5v+3) = 5v~5 B.3m—~6=5m+7-m

Cow+d—w=Sw=20w=2) D.Ty+9-fy=Sy—6-Ty

6. Solve dx=2a=gfors.

7. Lennyruns a 100-meter coursein 25 seconds. Gary runs a 450-meter coursein
1125 seconds. Bruford runs 2 950-meter coursein 2375 seconds. Whichathlete
is the fastest?

8. You are shopping forjeans. City Express sells 3 pairs of jeans for $61. Denim

Planct sells 2 pairs of jeans for §73. New Threads sells ¢ pairs ofjeans for $110.

Which store has the best deal?

Acaris driving at 2 speed of 45 mi'h. Whatis the speed of the car in yards per

minute?





